Discussiones Mathematicae General Algebra and Applications 43 (2023) 149–160 https://doi.org/10.7151/dmgaa.1413

(f,g)-DERIVATION OF ORDERED TERNARY SEMIRINGS

Napaporn Sarasit

Division of Mathematics
Faculty of Engineering, Rajamangala University of Technology Isan
Khon Kaen Campus, Khon Kaen 40000, Thailand

e-mail: napaporn.sr@rmuti.ac.th

AND

RONNASON CHINRAM

Division of Computational Science Faculty of Science, Prince of Songkla University Hat Yai, Songkhla 90110, Thailand

e-mail: ronnason.c@psu.ac.th

Abstract

In this paper, we introduce the concept of an (f,g)-derivation of ternary semirings and we study its properties in ordered ternary semirings. We prove that if d is an (f,g)-derivation of an ordered ternary semiring S, then the kernel of d is a k-ideal of S. Moreover, we show that the kernel and the set of all fixed points of d are m-k-ideals of S.

Keywords: ordered ternary semiring, derivation, integral ordered ternary semiring.

2020 Mathematics Subject Classification: 16Y60.

1. Introduction and preliminaries

The notion of semirings was introduced by Vandiver [11] in 1934. The semiring theory is useful to many areas of mathematics and theoretical computer science. There are several authors investigated the relationship between the commutativity of a ring R and the existence of certain specified derivations of R. Bresar and Vukman [1] established that a prime ring admits a nonzero derivation in 1990. In the year 2016, Murali Krishna Rao and Venkateswarlu [6] introduced

the notion of generalized right derivations of Γ -inclines and right derivations of ordered Γ -semirings. In 2017–2019, Murali Krishna Rao [7, 8, 9] studied ideals of an ordered Γ -semiring and introduced the concept of (f,g)-derivations which is a generalization of f-derivations and derivations of ordered semirings.

The notion of ternary algebraic structures was introduced by Lehmer [4] in 1932, but earlier such structure was studied by Kasner [3] in 1904 and Prüfer [10] in 1924. Lehmer investigated certain ternary algebraic system called triplexes. In the year 1971, Lister [5] characterized additive semigroups of rings which are closed under the triple ring product and it is called a ternary ring. In 2003, Dutta and Kar [2] introduced a notion of ternary semirings which is a generalization of ternary rings and semirings.

In this paper, we introduce the concept of (f,g)-derivations of ordered ternary semirings and study some properties of these derivations. Firstly, we will recall some of the fundamental concepts and definitions, these are necessary for this paper. A nonempty set S together with a binary operation and a ternary opearation are called addition + and ternary multiplication, respectively, is said to be a ternary semiring if (S,+) is a commutative semigroup satisfying the following conditions: for all $a,b,c,d,e \in S$,

- (i) (abc)de = a(bcd)e = ab(cde),
- (ii) (a+b)cd = acd + bcd, a(b+c)d = abd + acd, ab(c+d) = abc + abd.

A ternary semiring S is said to have a zero element if there exists element $0 \in S$ such that 0 + a = a + 0 = a, 0ab = a0b = ab0 = 0 for all $a, b \in S$. A ternary semiring S is said to be commutative if abc = acb = bac = bca = cab = cba for all $a, b, c \in S$. An element $a \in S$ is said to be a multiplicatively selfpotent element of S if aaa = a (an additively selfpotent element if a + a = a). An element $1 \in S$ is said to be unity if a11 = 1a1 = 11a = a for all $a \in S$.

Example 1.1. (1) Every semiring $(S, +, \cdot)$ can be considered to be a ternary semiring by the addition + and ternary multiplication defined by $abc = a \cdot b \cdot c$.

(2) \mathbb{Z}^- under the usual addition + and ternary multiplication defined by $abc = a \cdot b \cdot c$ is a ternary semiring but $(\mathbb{Z}^-, +, \cdot)$ is not a semiring.

Then we can see that the structure of ternary semirings is a generalization of semirings.

A ternary semiring S is called an ordered ternary semiring if it admits a compatible relation \leq , i.e., \leq is a partial order on S that satisfies the following conditions. If $a \leq b, c \leq d$ and $x, y \in S$ then

- (i) $a + c \le b + d, c + a = d + b,$
- (ii) $axy \le bxy, xay \le xby, xya \le xyb$.

A non-zero element a of an ordered ternary semiring S is called a zero divisor if there exist nonzero elements $b, c \in S$ such that abc = acb = bac = bca = cab = cba = 0. If S is an ordered ternary semiring with unity 1, zero element 0 and it has no zero divisor, then S is called an integral ordered ternary semiring.

- **Example 1.2.** (1) Every ternary semiring can be considered to be an ordered ternary semiring by a partial order is an identity relation. Then the structure of ordered ternary semirings is a generalization of ternary semirings.
- (2) The ternary semiring \mathbb{Z}^- under the usual addition + and ternary multiplication defined by $abc = a \cdot b \cdot c$ and the less than or equal relation \leq is an ordered ternary semiring.

Let S be an ordered ternary semiring and let $a, b, c \in S$. The semigroup (S, +) is said to be positively ordered, if $a \le a + b$ and $b \le a + b$. The ternary semigroup (S, \cdot) is said to be negatively ordered, if $abc \le a$, $abc \le b$ and $abc \le c$.

An additive subsemigroup A of an ordered ternary semiring S is called a left (resp. right, lateral) ideal of S if $xya \in A$ (resp. $axy \in A, xay \in A$) and $a \leq x$ then $a \in A$, for all $x,y \in S$ and $a \in A$. If A is a left, right, lateral ideal of S, then A is called an ideal of S. An ideal A of S is a k-ideal if for all $x,y \in S, x+y \in A, y \in A$, then $x \in A$.

Let S be an ordered ternary semiring. A surjective mapping $f:S\to S$ is called an endomorphism if

- (i) f(x+y) = f(x) + f(y),
- (ii) f(xyz) = f(x)f(y)f(z) for all $x, y, z \in S$.

2. Main results

In this section, we introduce the concept of an (f,g)-derivation of an ordered ternary semiring S, where f and g are endomorphisms of S. We shall always assume that $a \leq b$ if and only if a + b = b for all $a, b \in S$.

Definition 2.1. Let S be a ternary semiring or an ordered ternary semiring. A mapping $d: S \to S$ is called a derivation if it satisfies

- (i) d(x + y) = d(x) + d(y),
- (ii) d(xyz) = d(x)yz + xd(y)z + xyd(z) for all $x, y, z \in S$.

Example 2.1. (1) Let $D = \{f : \mathbb{R} \to \mathbb{R} \mid f \text{ is a differentiable function}\}$. Then D is a ternary semiring under the addition of functions and the ternary multiplication defined by $abc = a \cdot b \cdot c$ where \cdot is the multiplication of functions.

Define $d: D \to D$ by d(f(x)) = f'(x) for all $f(x) \in D$. Then d is a derivation. Note that D is a ring.

(2) Let $\mathbb{Z}_0^-[X]$ be the set of all polynomials over \mathbb{Z}_0^- where \mathbb{Z}_0^- is the set of all non-positive integers. Let the formal derivative d be an operation on elements of $\mathbb{Z}_0^-[X]$, where if

$$f(x) = a_n x^n + \dots + a_1 x + a_0,$$

then its formal derivative is

$$d(f(x)) = na_n x^{n-1} + \dots + 2a_2 x + a_1.$$

Then d is a derivation. Note that $\mathbb{Z}_0^-[X]$ is a ternary semiring but not a semiring.

Definition 2.2. Let S be a ternary semiring or an ordered ternary semiring and f be an endomorphism on S. A mapping $d: S \to S$ is called an f-derivation if it satisfies

- (i) d(x+y) = d(x) + d(y),
- (ii) d(xyz) = d(x)f(y)f(z) + f(x)d(y)f(z) + f(x)f(y)d(z) for all $x, y, z \in S$.

Definition 2.3. Let S be a ternary semiring or an ordered ternary semiring and f,g be two endomorphisms on S. A mapping $d:S\to S$ is called an (f,g)-derivation if it satisfies

- (i) d(x + y) = d(x) + d(y),
- (ii) d(xyz) = d(x)f(y)f(z) + g(x)d(y)f(z) + g(x)g(y)d(z) for all $x, y, z \in S$.

It is easy to see that the concept of (f,g)-derivations generalizes the concepts of derivations defined in Definition 2.1 and 2.2. In this paper, we will give properties of derivations in case of ordered ternary semirings. For the case of ternary semirings, it is a special case of results in this paper.

Proposition 2.1. Let d be an (f,g)-derivation of a selfpotent commutative ordered ternary semiring S and assume that (S,\cdot) is a negatively ordered ternary semigroup. If $f(x) \leq g(x)$, then $d(x) \leq g(x)$ for all $x \in S$.

Proof. Assume that $f(x) \leq g(x)$, for all $x \in S$. Then f(x) + g(x) = g(x). Let x be a selfpotent element. Then $d(x) = d(xxx) = d(x)f(x)f(x) + g(x)d(x)f(x) + g(x)g(x)d(x) = d(x)f(x)[f(x) + g(x)] + g(x)g(x)d(x) = d(x)g(x)[f(x) + g(x)] = d(x)g(x)g(x) \leq g(x)$.

Proposition 2.2. Let d be an (f,g)-derivation of an ordered ternary semiring S. If f(0) = g(0) = 0, then d(0) = 0.

Proof. It is obvious.

Proposition 2.3. Let S be an ordered ternary semiring and assume that (S, +) is a band. Let f, g be endomorphisms on selfpotents of S. If $g(x) \leq f(x)$ for all $x \in S$, then f is an (f, g)-derivation of S.

Proof. Let $x, y, z \in S$. Assume that $g(x) \leq f(x), g(y) \leq f(y)$ and $g(z) \leq f(z)$, i.e., g(x) + f(x) = f(x), g(y) + f(y) = f(y) and g(z) + f(z) = f(z). Consider

$$\begin{split} f(xyz) &= f(x)f(y)f(z) \\ &= f(x)f(y)f(z) + f(x)f(y)f(z) \\ &= f(x)f(y)f(z) + [g(x) + f(x)][g(y) + f(y)]f(z) \\ &= f(x)f(y)f(z) + g(x)[g(y) + f(y)]f(z) + f(x)[g(y) + f(y)]f(z) \\ &= f(x)f(y)f(z) + g(x)g(y)f(z) + g(x)f(y)f(z) + f(x)[g(y) + f(y)]f(z) \\ &= f(x)f(y)f(z) + g(x)g(y)f(z) + g(x)f(y)f(z) + f(x)f(y)f(z) \\ &= f(x)f(y)f(z) + g(x)f(y)f(z) + g(x)g(y)f(z). \end{split}$$

Thus f is an (f,g)-derivation of S.

Proposition 2.4. Let A be a non-zero ideal of an integral ordered ternary semiring S and assume that (S, \cdot) is a negatively ordered ternary semigroup. If d is a non-zero (f, g)-derivation on S with g is a non-zero function on A, then d is a non-zero (f, g)-derivation on A.

Proof. Let d be a non-zero (f,g)-derivation on S in which g is a non-zero function on A. Assume that d is a zero (f,g)-derivation on A. Let $x \in A$ and $y \in S$. Then d(x) = 0 and $g(x) \neq 0$. Since (S, \cdot) is a negatively ordered semigroup, $xxy \leq x$ and we have $d(xxy) \leq d(x) = 0$. Thus 0 = d(x) = d(x) + d(xxy) = 0 + d(xxy) = d(xxy) = d(x)f(x)f(y) + g(x)d(x)f(y) + g(x)g(x)d(y) = 0 + 0 + g(x)g(x)d(y) = g(x)g(x)d(y). This implies that d(y) = 0, a contradiction. Hence d is a non-zero (f,g)-derivation on A.

Proposition 2.5. Let S be a selfpotent ordered ternary semiring and d be an (f,g)-derivation on S. If $d \circ d = d$ and $f \circ d = f$, then d(xxd(x)) = d(x) for all $x \in S$.

Proof. Let $x \in S$. Then

$$\begin{aligned} d(xxd(x)) &= d(x)f(x)f(d(x)) + g(x)d(x)f(d(x)) + g(x)g(x)d(d(x)) \\ &= d(x)f(x)f(x) + g(x)d(x)f(x) + g(x)g(x)d(x) = d(xxx) = d(x). \end{aligned}$$

An ordered ternary semiring S is called a prime ordered ternary semiring if aSb=0 implies a=0 or b=0.

Proposition 2.6. Let S be a prime commutative ordered ternary semiring and A be a non-zero ideal of S. If there exists an (f,g)-derivation d on S such that g(x) = x for all $x \in S$ and d(A)Ax = 0, then x = 0.

Proof. Let $x \in S$. Suppose that d(A)Ax = 0. Then for all $a \in A, y \in S$, we obtain that

$$0 = d(aay)ax$$

$$= [d(a)f(a)f(y) + g(a)d(a)f(y) + g(a)g(a)d(y)]ax$$

$$= d(a)f(a)f(y)ax + g(a)d(a)f(y)ax + g(a)g(a)d(y)ax$$

$$= g(a)g(a)d(y)ax = aad(y)ax.$$

Let $z \in S$. Replacing y with yyz, then

$$0 = aad(yyz)ax$$

$$= aa[d(y)f(y)f(z) + g(y)d(y)f(z) + g(y)g(y)d(z)]ax$$

$$= aag(y)g(y)d(z)ax$$

$$= aayyd(z)ax.$$

Thus 0 = d(z)ax = ad(z)x and $d \neq 0$, $a \neq 0$, this implies that x = 0.

Proposition 2.7. Let S be a prime commutative ordered ternary semiring and d be an (f,g)-derivation of S where $f \circ d = d \circ f$ and g(x) = x for all $x \in S$. If $d^2 = 0$, then d = 0.

Proof. Suppose that $d^2 = 0$. Let $x \in S$. Then

```
\begin{aligned} 0 &= d^2(xxx) = d[d(xxx)] \\ &= d[d(x)f(x)f(x) + g(x)d(x)f(x) + g(x)g(x)d(x)] \\ &= d[d(x)f(x)f(x)] + d[g(x)d(x)f(x)] + d[g(x)g(x)d(x)] \\ &= [d(d(x))f(f(x))f(f(x)) + g(d(x))d(f(x))f(f(x)) + g(d(x))g(f(x))d(f(x))] \\ &+ [d(g(x))f(d(x))f(f(x)) + g(g(x))d(d(x))f(f(x)) + g(g(x))g(d(x))d(f(x))] \\ &+ [d(g(x))f(g(x))f(d(x)) + g(g(x))d(g(x))f(d(x)) + g(g(x))g(g(x))d(d(x))] \\ &= d(x)d(f(x))f(f(x)) + d(x)f(x)d(f(x)) + d(x)f(d(x))f(f(x)) + xd(x)d(f(x)) \\ &+ d(x)f(x)f(d(x)) + xd(x)f(d(x)) \\ &= d(x)[f(f(x)) + f(x) + f(f(x)) + x + f(x) + x]d(f(x)). \end{aligned}
```

Since S is a prime ordered ternary semiring, d(x) = 0 or 0 = d(f(x)) = d(z) for some $z \in S$. Therefore d = 0.

Corollary 2.8. Let d be an (f,g)-derivation on a prime commutative ordered ternary semiring S and g(x) = x for all $x \in S$. If $a \in S$, aad(x) = 0 or d(x)aa = 0, then a = 0 or d = 0.

Proof. Suppose that aad(x) = 0 for all $x \in S$. Let $a, x, y \in S$. Since aad(xxy) = 0,

$$0 = aad(xxy) = aa[d(x)f(x)f(y) + g(x)d(x)f(y) + g(x)g(x)d(y)]$$

= $aad(x)f(x)f(y) + aag(x)d(x)f(y) + aag(x)g(x)d(y) = a(axx)d(y).$

Hence a = 0 or d = 0. In a similar way, if d(x)aa = 0, then a = 0 or d = 0.

Proposition 2.9. Let d be an (f,g)-derivation of a selfpotent ordered ternary semiring S. If $d \circ d = d$ and $f \circ d = f$, then d(xxd(xxx)) = d(x) for all $x \in S$.

Proof. Assume that d is an (f,g)-derivation of a selfpotent ordered ternary semiring S such that $d \circ d = d$, $f \circ d = f$. Let $x \in S$. Then

$$\begin{split} d(xxd(xxx)) &= d(x)f(x)f(d(xxx)) + g(x)d(x)f(d(xxx)) + g(x)g(x)d(d(xxx)) \\ &= d(x)f(x)f(xxx) + g(x)d(x)f(xxx) + g(x)g(x)d(xxx) \\ &= d(x)f(x)f(x) + g(x)d(x)f(x) + g(x)g(x)d(x) = d(xxx) = d(x). \end{split}$$

Therefore d(xxd(xxx)) = d(x).

Theorem 2.10. Let S be a commutative ordered ternary semiring and d_1, d_2 be (f,g)-derivations of S where $g \circ d_2 = g \circ d_1, d_1 \circ g = d_2 \circ g, f \circ d_2 = f \circ d_1, d_1 \circ f = d_2 \circ f, f \circ f = f$ and $g \circ g = g$. If $d_1 \circ d_2 = 0$, then $d_2 \circ d_1$ is an (f,g)-derivation of S.

Proof. Assume $d_1 \circ d_2 = 0$. Let $x, y, z \in S$. Then

```
\begin{split} 0 &= d_1 \circ d_2(xyz) = d_1[d_2(xyz)] \\ &= d_1[d_2(x)f(y)f(z) + g(x)d_2(y)f(z) + g(x)g(y)d_2(z)] \\ &= [d_1(d_2(x))f(f(y))f(f(z)) + g(d_2(x))d_1(f(y))f(f(z)) + g(d_2(x))g(f(y))d_1(f(z))] \\ &+ [d_1(g(x))f(d_2(y))f(f(z)) + g(g(x))d_1(d_2(y))f(f(z)) + g(g(x))g(d_2(y))d_1(f(z))] \\ &+ [d_1(g(x))f(g(y))f(d_2(z)) + g(g(x))d_1(g(y))f(d_2(z)) + g(g(x))g(g(y))d_1(d_2(z))] \\ &+ [d_1(g(x))f(g(y))f(f(z)) + g(d_1(x))g(f(y))d_1(f(z))] \\ &+ [d_2(g(x))f(d_1(y))f(f(z)) + g(x)g(d_1(y))d_2(f(z))] \\ &+ [d_2(g(x))f(g(y))f(d_1(z)) + g(x)d_2(g(y))f(d_2(z))] \end{aligned} \\ &+ [d_2(g(x))f(g(y))f(d_1(z)) + g(x)d_2(g(y))f(d_2(z))] \end{aligned}
and consider d_2 \circ d_1(xyz) = d_2(d_1(xyz))
= d_2[d_1(x)f(y)f(z) + g(x)d_1(y)f(z) + g(x)g(y)d_1(z)]
= d_2(d_1(x))f(f(y))f(f(z)) + g(d_1(x))d_2(f(y))f(f(z)) + g(d_1(x))g(f(y))d_2(f(z)) \\ + d_2(g(x))f(d_1(y))f(f(z)) + g(g(x))d_2(d_1(y))f(f(z)) + g(g(x))g(d_1(y))d_2(f(z)) \\ + d_2(g(x))f(g(y))f(d_1(z)) + g(g(x))d_2(g(y))f(d_1(z)) + g(g(x))g(g(y))d_2(d_1(z)) \end{aligned}
```

```
= [g(d_1(x))d_2(f(y))f(f(z)) + g(d_1(x))g(f(y))d_2(f(z)) + d_2(g(x))f(d_1(y))f(f(z)) + g(g(x))g(d_1(y))d_2(f(z)) + d_2(g(x))f(g(y))f(d_1(z)) + g(g(x))d_2(g(y))f(d_1(z))] + [d_2(d_1(x))f(f(y))f(f(z)) + g(g(x))d_2(d_1(y))f(f(z)) + g(g(x))g(g(y))d_2(d_1(z))] \\ = [g(d_2(x))d_2(f(y))f(f(z)) + g(d_1(x))g(f(y))d_1(f(z))] + [d_2(g(x))f(d_1(y))f(f(z)) + g(x)g(d_1(y))d_2(f(z))] + [d_2(g(x))f(g(y))f(d_1(z)) + g(x)d_2(g(y))f(d_2(z))] + [d_2(d_1(x))f(f(y))f(f(z)) + g(g(x))d_2(d_1(y))f(f(z)) + g(g(x))g(g(y))d_2(d_1(z))] \\ = d_2(d_1(x))f(f(y))f(f(z)) + g(g(x))d_2(d_1(y))f(f(z)) + g(g(x))g(g(y))d_2(d_1(z)) + g(g(x))g(g(y))d_2(d_1(z)) + g(g(x))g(g(y))d_2(d_1(z)) + g(g(x))g(g(y))d_2(d_1(z)) + g(x)g(y)d_2(d_1(z)).
```

Therefore $d_2 \circ d_1$ is an (f, g)-derivation of S.

Lemma 2.11. Let d be an (f,g)-derivation of an ordered ternary semiring S with unity and assume that (S,+) is a positively ordered semigroup. If d(1)=1 and g(x)=x, then $x \leq d(x)$ for all $x \in S$.

Proof. Let $x \in S$. Assume that d(1) = 1 and g(x) = x. Then $d(x) = d(x11) = d(x)f(1)f(1) + g(x)d(1)f(1) + g(x)g(1)d(1) \ge g(x)d(1)f(1) + g(x)g(1)d(1) \ge g(x)g(1)d(1) = x11 = x$. Thus $x \le d(x)$.

Lemma 2.12. Let d be an (f,g)-derivation of a selfpotent ordered ternary semiring S with unity and assume that (S,\cdot) is a negatively ordered ternary semigroup. If $f(x) \leq x, g(x) = x$, then $d(x) \leq x$ for all $x \in S$.

Proof. Let $x \in S$. Assume that $f(x) \leq x, g(x) \leq x$. Then we obtain that $d(x) = d(xxx) = d(x)f(x)f(x) + g(x)d(x)f(x) + g(x)g(x)d(x) \leq f(x) + f(x) + g(x) \leq x + x + x = x$. Thus $d(x) \leq x$.

Lemma 2.13. Let S be a selfpotent ordered ternary semiring with unity in which a semigroup (S,+) is positively ordered and a ternary semigroup (S,\cdot) is negatively ordered. Let d be an (f,g)-derivation and assume that $f(x) \leq x, g(x) \leq x$ for all $x \in S$. Then d(1) = 1 if and only if d(x) = x.

Proof. Assume that d(1) = 1. By Lemma 2.11, $x \le d(x)$ and by Lemma 2.12, $d(x) \le x$. Thus d(x) = x. Conversely, it is clear.

Lemma 2.14. Let S be an ordered ternary semiring with unity in which a semigroup (S,+) is positively ordered and a ternary semigroup (S,\cdot) is negatively ordered. If d is an (f,g)-derivation such that $d(1)=1, f(x) \leq x, g(x)=x$ for all $x \in S$, then the following statements hold for all $x, y, z \in S$.

- (i) $d(xyz) \leq d(x)$,
- (ii) $d(xyz) \le d(y)$,
- (iii) $d(xyz) \leq d(z)$,
- (iv) d is an isotone derivation.

Proof. Let $x, y, z \in S$.

- (i) $d(xyz) = d(x)f(y)f(z) + g(x)d(y)f(z) + g(x)g(y)d(z) \le d(x)yz + xd(y)z + xyd(z) \le d(x) + x + x$. Thus by Lemma 2.11, $d(xyz) \le d(x) + d(x) + d(x) = d(x)$. The proofs of (ii) and (iii) are similar to that of (i).
- (iv) Assume that $x \leq y$. Then x+y=y, this implies that d(x)+d(y)=d(y). Therefore $d(x) \leq d(y)$.
- **Lemma 2.15.** Let S be a selfpotent ordered ternary semiring with unity in which a semigroup (S,+) is positively ordered and a ternary semigroup (S,\cdot) is negatively ordered. Let d be an (f,g)-derivation of S such that d(1)=1. Then $f(x) \leq x, g(x) = x$ if and only if d(x) = x for all $x \in S$.
- **Proof.** Let d be an (f,g)-derivation of S such that d(1)=1. Assume that $f(x) \leq x$ and g(x)=x for all $x \in S$. Then by Lemma 2.13, d(x)=x. Conversely, suppose that d(x)=x for all $x \in S$. Then x=d(x)=d(xxx)=d(x)f(x)f(x)+g(x)d(x)f(x)+g(x)g(x)d(x)=xf(x)f(x)+g(x)xf(x)+g(x)g(x)x. Thus $x+x+x\leq f(x)+x+x$, this implies that $x\leq f(x)$. On the other hand, $xxx=x\leq xxf(x)$. Thus $x\geq f(x)$. Hence f(x)=x. In a similar way, we obtain that g(x)=x.
- **Lemma 2.16.** Let d be an (f,g)-derivation of an ordered ternary semiring S and assume that (S,\cdot) is a negatively ordered ternary semigroup. Then ker d is a k-ideal of S.
- **Proof.** Let $x, y, z \in \ker d$. Then d(x) = d(y) = d(z) = 0. Thus d(x + y) = d(x) + d(y) = 0 + 0 = 0 and d(xyz) = d(x)f(y)f(z) + g(x)d(y)f(z) + g(x)g(y)d(z) = 0 + 0 + 0 = 0. This implies that $x + y, xyz \in \ker d$. Therefore $\ker d$ is a ternary subsemiring of S. Let $a, b \in S$. Then $abx \le x$, it implies that $d(abx) \le d(x) = 0$. Hence $abx \in \ker d$. Suppose that $a \le x$, then a + x = x, d(a + x) = d(x). Thus 0 = d(x) = d(a + x) = d(a) + d(x) = d(a) + 0 = d(a). Therefore $a \in \ker d$. Assume that $a + x \in \ker d$. Then d(a + x) = 0, this implies that 0 = d(a + x) = d(a) + d(x) = d(a) + 0 = d(a). Thus $a \in \ker d$. Hence $\ker d$ is a k-ideal of S.
- **Definition 2.4.** An ideal A of an ordered ternary semiring S is said to be an m-k-ideal if $abx \in A$ and $a, b \in A, x \in S$, then $x \in A$.

Theorem 2.17. Let d be an (f,g)-derivation of an integral ordered ternary semiring S and assume that (S,\cdot) is a negatively ordered ternary semigroup. Let f,g be non-zero endomorphisms of S. Then ker d is an m-k-ideal of S.

Proof. Let $x, y \in \ker d$ and $z \in S$. Assume that $xyz \in \ker d$. Then d(xyz) = d(x)f(y)f(z) + g(x)d(y)f(z) + g(x)g(y)d(z), it implies that 0 = g(x)d(y)d(z). Since f, g are non-zero endomorphisms of S, d(z) = 0. Therefore $z \in \ker d$ and by Lemma 2.15, $\ker d$ is an ideal of S. This implies that $\ker d$ is an m-k-ideal of S.

Theorem 2.18. Let S be a selfpotent additively cancellative ordered ternary semiring with unity in which a semigroup (S, +) is positively ordered and a ternary semigroup (S, \cdot) is negatively ordered. Let d be an (f, g)-derivation of S and d(1) = 1. Define the following set

$$Fix_d(S) := \{ x \in S \mid d(x) = x \}.$$

Then $Fix_d(S)$ is an m-k-ideal of S.

Proof. Let $x, y, z \in Fix_d(S)$. Then d(x) = x, d(y) = y, d(z) = z, so by Lemma 2.14, $f(x) \leq x, f(y) \leq y, f(z) \leq z$ and g(x) = x, g(y) = y, g(z) = z. Thus we obtain d(x + y) = d(x) + d(y) = x + y and $d(xyz) = d(x)f(y)f(z) + g(x)d(y)f(z) + g(x)g(y)d(z) \leq xyz + xyz + xyz$, we have $d(xyz) \leq xyz$. Since g(xyz) = g(x)g(y)g(z) = xyz, by Lemma 2.12, $xyz \leq d(xyz)$. Thus d(xyz) = xyz. Therefore $x + y, xyz \in Fix_d(S)$.

Let $a \in S$. Assume that $a \leq x$. Then a+x=x. We now have d(a)+d(x)=d(x). So d(a)+x=x=a+x, this implies that d(a)=a. Thus $a \in Fix_d(S)$. Hence $Fix_d(S)$ is a k-ideal of S. Suppose that $xya \in Fix_d(S)$. Then by Lemma 2.14, g(xya)=xya. Thus xyg(a)=g(x)g(y)g(a)=g(xya)=xya, this implies that g(a)=a. By Lemma 2.11, $a \leq d(a)$. On the other hand, since by Lemma 2.14, $f(xya) \leq xya$, we have f(xya)+xya=xya and f(x)+x=x, f(y)+y=y. Then f(x)f(y)f(a)+[f(x)+x][f(y)+y]a=[f(x)+x][f(y)+y]a, we obtain that f(x)f(y)f(a)+f(x)f(y)a+f(x)ya+xf(y)a+xya=f(x)f(y)a+f(x)ya+xf(y)a+xya. So f(x)f(y)[f(a)+a]=f(x)f(y)a. Thus f(a)+a=a. It follows that $f(a) \leq a$. Then by Lemma 2.11, $d(a) \leq a$. Hence d(a)=a, i.e., $a \in Fix_d(S)$. Therefore $Fix_d(S)$ is an m-k-ideal of S.

Note that if S is a ternary semiring with zero but not a ring, then S[X], the set of all polynomials over S, is a ternary semiring but not a ring. The formal derivative over S[X] is a derivation. Some properties of formal derivatives over S[X] do not seem to be properties of formal derivatives of the polynomial ring. All results in this paper will hold for S[X].

3. Conclusion

We have introduced the concept of (f,g)-derivations of an ordered ternary semiring S. We have studied some properties of (f,g)-derivations, such as some relations of images of ideals, selfpotent elements, zero and unity elements of S under (f,g)-derivations. Beside that, we give conditions for the composition of two (f,g)-derivations to be an (f,g)-derivation. Finally, we characterize a fixed point of an (f,g)-derivation, it follows that the kernel and the set of all fixed points of an (f,g)-derivation are m-k-ideals of S. Note that if S is an n-ary semiring with zero, then S[X] will be also an n-ary semiring. Some of the issues for further study in this direction may be to study the concept of (f,g)-derivations of n-ary semirings and ordered n-ary semirings.

Acknowledgment

The authors would like to thank the referees for their valuable suggestions which lead to an improvement of this paper.

References

- M. Bresar and J. Vukman, On the left derivation and related mappings, Proc. Amer. Math. Soc 110 (1990) 7–16.
 https://doi.org/10.1090/S0002-9939-1990-1028284-3
- [2] T.K. Dutta and S. Kar, On regular ternary semirings, in: Advances in Algebra, Proceedings of the ICM Satellite Conference in Algebra and Related Topics (Ed(s)), (World Scientific, New Jersey, 2003) 343–355.
- [3] E. Kasner, An extension of the group concept (reported by L.G. Weld), Bull. Amer. Math. Soc. 10 (1904) 290–291.
- [4] H. Lehmer, A ternary analogue of abelian groups, Amer. J. Math. 59 (1932) 329–388.
 https://doi.org/10.2307/2370997
- W. G. Lister, Ternary rings, Tran. of Amer. Math. Soc. 154 (1971) 37–55. https://doi.org/10.1090/S0002-9947-1971-0272835-6
- [6] M. Murali Krishna Rao and B. Venkateswarlu, Right derivation of ordered Γ-semirings, Discuss. Math. Gen. Algebra Appl. 36 (2016) 209–221. https://doi.org/10.7151/dmgaa.1258
- [7] M. Murali Krishna Rao, On Γ -semiring with identity, Discuss. Math. Gen. Algebra Appl. **37** (2017) 189–207. https://doi.org/10.7151/dmgaa.1276
- [8] M. Murali Krishna Rao, *Ideals in ordered* Γ -semirings, Discuss. Math. Gen. Algebra Appl. **38** (2018) 47–68. https://doi.org/10.7151/dmgaa.1284

- [9] M. Murali Krishna Rao, (f, g)-derivation of ordered semirings, Analele Universității Oradea Fasc. Matematica **26** (2) (2019) 41–49.
- [10] H. Prüfer, Thorie der Abelschen Gruppen, Mathematische Zeitschrift 20 (1924) 165–187.
 https://doi.org/10.1007/BF01188079
- [11] H. S. Vandiver, Note on a simple type of algebra in which cancellation law of addition does not hold, Bull. Amer. Math. Soc. (N.S.) 40 (1934) 914–920. https://doi.org/10.1090/S0002-9904-1934-06003-8

Received 7 July 2021 Revised 4 August 2021 Accepted 4 May 2022